1.

3x+5y—2(2x—3y) & AXSHAE o, x 2y o] A9] §-2 FHotoiet,

> E.

> =g 10

3x+5y—2(2x—3y) =3x+ 5y —4x+ 6y = —x + 11y
x O A -1,y 9 AL 411
L —-14+11=10




ol
bl

4 4—ax = (a-3)x 9 W7H L W, A5 a o L FofedeL,

> =

> =g
2

(3-2a)x=-4

3-2a=0




3. X9 Fol2,3,5 Yo Fol0,1,24 W, (X,Y) & o] FoiA =
Mee?

Aol

i

@A o8 e @eh G5

(2,0), (2,1), (2,2), (3,0), (3,1), (3,2), (5,0), (5,1), (5,2) = 9
7h




o o] T Fol A A 2, 4 AFERHE A v A2?
3
D)y = -2x @yzéx ® y=4x
2
@ y= =% ® y=b5x

y=ax(a#0) 9 1=

a< 0™, A2 4 AHEHS A




AL A A Gt




ol
]
™
UE
ol

olJ
ofig

H7]

© 2+a-x

2a—b

A 2a-b+3

@ 01x(-1)xa=-0a

® ¢x(-3)xa=-3ac

© (-5)x ; xb=-b

@6,

® ©

®e. e

® Q606,06

® 9,0.6,8,@

O2+a-x

@ 0.1x(-1)xa=-0.1a




th= 540 ™7 f1ste] Of, (el Aot Ae Z4Hzh b

@ 3a=2b°Ha-1=0p

© 2a-2=8b°|Ha=)

O EENTEY O RERVENSS
@(7})32—1 h:bv+1 @(7})3%,(L})2b+1
@(ﬂ)‘%—l,(l_r) 4b +1

G 3a.= 25 91X PHE3 02 Pl a= 2 ofck. thA] 1 &
M a-1= 2 -1 0I}

© 2a -2 = 8b oA ¥ 25 HSIH 2a = 8b + 2 ©|t}. ThA|
22 FHS U rH g =4b+ 1 0|t}




A5 A AHA50] gHe Tt fot 7bg B S0
=] al

o]-_,.l QHHE_\:]'
}' ]'E_ Ea =) —:F-o]-cqal'

e
o
N
3

A A& A AASE x, x+1, x+2 2

x+(x+1)+(x+2):2(2x+1)_47
3x+3=4x-45
. x =148




2 S

A S Uirol S 3 1A £ 19 Zi7F AL, 5 7iA
FH 17 W7F BT oA =0

® 163 @18%‘ ®20% @279 G247

B

o]—/x“

Tix
3x+19=5x-17
2x = 36

x=18(%)




@ A (-2, -2) o x Z o] HHA A A 2 ARR)
o]tk

@ A (2, 1) Ty %] dhste] TP AL (-2, 1) o]k,

® A (5, 3) T x %] stel A AL A 4 AR ok,

@ A (a, b) 7 A 3R] Ho|m Aol Hhste] el AL
Al 1AHE R o] o]t

@A (-7, 6) 7 Aol Shste] BhHA AL (-7, -6) oIk,

B

® A (-2, —2)¢ xZol tote] HAQA -2 (-2,2) Al 2AHE

Hel o

@A (2, 1)} yFof thote] AN A2 (-2, 1

® A (5, 3) I x Fof thsto] A QA H-2 (
Ho| ol

@ A (a, b)7F Al 3AFEHS] HolH a < 0, b < 00°]T}.

A (a, b) 2] Al tote] AN H O] FHEE= (—a, —b)O|EE

A 1AHEH S Holtt.

® A(-7,6) 1 Aol thope] thA QA A2 (7, -6)°]Th

ojrt,
- 3), Al 4 Ak

,01




